
Lifestyle + Risk Reduction
High Blood Pressure

ANSWERS 
by  hear t

BLOOD PRESSURE  
CATEGORY

SYSTOLIC mm Hg  
(upper number)

DIASTOLIC mm Hg  
(lower number)

NORMAL LESS THAN 120 and LESS THAN 80

ELEVATED 120-129 and LESS THAN 80

HIGH BLOOD 
PRESSURE 

(HYPERTENSION) 
STAGE 1

130-139 or 80-89

HIGH BLOOD 
PRESSURE 

(HYPERTENSION) 
STAGE 2

140 OR HIGHER or 90 OR HIGHER

HYPERTENSIVE 
CRISIS  

(consult your doctor 
immediately)

HIGHER THAN 180and/
or HIGHER THAN 120

Blood pressure is the force of blood 
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Take a few minutes to 
write down questions 
for the next time you 
see your health care 
professional.

For example:

Call 1-800-AHA-USA1 (1-800-242-8721),  
or visit heart.org to learn more about  
heart disease and stroke.
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http://www.heart.org
http://www.heartinsight.org
http://www.heart.org/supportnetwork
http://www.heart.org/AnswersByHeart

